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1. Peter thinks of a number.

He multiplies the number by 3
He then adds 2

His answer is 20
(a) What number did Peter think of?

Lat o¢ = Peker's number .

Tham D9¢+ 4 = A0 &
I L T
< D= RS S @
Sophie uses the formula P=2q+ 5
to find the perimeter P of this triangle. - b
(b) Find the value of P when
a=6and h=4
a
= 1+ 4 | &
- 1 6 R e s i
2)
(Total 4 marks)
2. (a) Work out the value of
(i) #
| &
(i) o4 <2
(iii) 3 = 23
L4
3)
(b) Work out
@i —3+5 ;l
(i) 2-3 —
T s
(2)

(Total 5 marks)
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3. The cost of hiring a car can be worked out using this rule.

Cost = £80 + 50p per mile

Bill hires a car and drives 90 miles.

(a) Work out the cost.

O = BO + QS”(C]O)
e+ 5

= LIS 0D

\

The cost of hiring a car and driving m miles is C pounds.

(b) Complete the formula for C in terms of m.
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4. (a) Complete this table of values for y = 2x — |

X -1 0 1 2 3

g (=% 4 ] 3 5

@

‘\3: 19 - |

4

(b) On the grid, draw the graph of y = 2x — 1
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(Total 4 marks)




5. Work out an estimate for the value of 31%4.92

0.21
AORS | V5 . IS
& . o bl _i_/—;_
= 15O% =5
= FRE 7S ©

(Total 3 marks)

6. (a) Expand y(2y-3)

(b) Factorise x*—4x

k is an integer such that —1 < k<3

(c) List all the possible values of £.

(Total 5 marks)
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7. (a) Factorise  x*>—5x

2
(b) Expand 3(5x-2)
| S7o¢ = 6
(1)
(Total 3 marks)
8. A hotel has 64 guests.
40 of the guests are male.
(a) Work out 40 out of 64 as a percentage.
L O ¥y 1oog = S- X 1O
G
= So0. 2% 125 _ 4q.509,
B o e S DB
2)
40% of the 40 male guests wear glasses.
(b) Write the number of male guests who wear glasses as a fraction of the 64 guests.
Give your answer in its simplest form.
Y off o = HO gy uoO
Jola
= HF x 4o r
2 4
= 16 (4)
(Total 6 marks)
( (3 e % = -————Hﬁ‘ = —-—2’ = __.—i
S an L6 3 Ly
Ly 3
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9. (a) Simplify  8x —4dx

(b) Simplify yxyxy

(¢c) Simplify 5y +4x —2x+ 5x

...... an.
(1)

-’
-
(1)
Syt Toe
(2)

(Total 4 marks)
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10. The two-way table gives some information about how 100 children travelled to school one

day.
Walk Car Bike Total
Boy 15 A5 14 54
Girl 28 8 16 Y46
Total 37 >3 30 100
(a) Complete the two-way table.
3
One of the children is picked at random.
(b) Write down the probability that this child walked to school that day.
P(w): _3% o R 2
HOES | oo
................................. (1)
One of the girls is picked at random.
(c) Work out the probability that this girl did not walk to school that day.
&

P (girl pieRed ab random did ook walk) 23
2i  _ 12 @
6 23 (Total 6 marks)

11. Apples cost a pence each

Bananas cost # pence each.

Write down an expression for the total cost, in pence, of 2 apples and 4 bananas.

(Total 2 marks)
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15. (a) Simplify

(b) Simplify

(c) Simplify

(d) Simplify

(e) Factorise

Sab + 2ab — 4ab

da+3b—-2a+2b

nxnxXn

3m % 2q

Sn+ 10

A ab
(1)
ra+s5b
(2)
........ A
(1)
..... &mgq
(1
<s(n+ 2 )
(1
(Total 6 marks)
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